## **Purchase Order**

Page 1 of 4 02/01/2025 12:58:32

## QMT LIFESTYLE AND TECHNOLOGY SERVICES PRIVATE LIMITED

Order Number : QMT/PO/24-25/000050

Supplier Detail	Shipped Location	Invoice Location
RUDRA INTERIORS POINT PVT. LTD. Supplier Code:RV242523688[V0000043]	QMT LIFESTYLE AND TECHNOLOGY SERVICES PRIVATE LIMITED Noida Airport	QMT LIFESTYLE AND TECHNOLOGY SERVICES PRIVATE LIMITED Noida Airport
(V000043)	Noida International Airport Jewar, Greater Noida, Yamuna Expressway, Dist. Gautam Buddha Nagar, Uttar Pradesh, India PIN Code - 203155	Noida International Airport Jewar, Greater Noida, Yamuna Expressway, Dist. Gautam Buddha Nagar, Uttar Pradesh, India Pin Code - 203155 GSTIN No : <b>09AAACQ9499G1ZR</b>
PAN No : <b>AAKCR0606C</b> Supplier GST No : <b>06AAKCR0606C1ZV</b> Supplier Contact No : Contact Person Name : <b>MANOJ</b> Supplier Email : <b>manoj@rudrasip.com</b>	Cost Center Code : 90620742 Cost Center Name : Noida International Lounge - G-02 Project ID : 0 PO Category : Capex NSO	Payment Term : Mobilisation advance 30% against post dated cheque or Bank Guarantee equivalent amount R.A bill-1 Further 20% upon work completion 60% post submission of invoice and joint certification post deduction of mobilisation advance R.A bill-2 Further 20% upon 90% work completion & post submission of invoice and joint certification Final payment 25% upon 100% work completion, within 30 days of joint work certification Retention-5% post completion of DLP of 6 months from date of virtual completion or witholding a Bank Guarantee of equivalent amount or higher till completion of DLP PO Creation Date : 24/12/2024 PO Approval Date : 31/12/2024 PO Currency : INR Buyer Name : Abdul Rehman

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1	Interior Electrical	9954	Interior Electrical		C01	1.00	NOS	95,375.00	0.00	95,375.00	95,375.00	18	112,542.50
2	Barricade work	9954	Barricade work		B01	1.00	SMTR	330,750.00	0.00	330,750.00	330,750.00	18	390,285.00
3	Wet work	9954	Wet work	Wet work	B01	1.00	NOS	1,237,448.51	0.00	1,237,448.51	1,237,448.51	18	1,460,189.24
					Total Qty :	3.00							
								Total Basic PO Amount					1,663,573.51

1,663,573.51

**Total Other Charges** 

**IGST Amount** 

299,443

## Remarks :

Standard Terms And Condition : Mobilisation date-02 Jan 2025

Work completion-20 days from Mobilisation

All Annexure related to work methodology and safety protocol attached as the part of this PO for contractors reference

Completion / Delivery TimeLine : 25/01/2025

Mobilization Date : 02/01/2025

Defects Liability Period : 30/06/2025

**Retention Percentage**: 0

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Abdul	9920292129					
Binu	8452876061					

## Disclaimer :

Point 1 : Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2 : Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemC							
ItemN Sr No		Item Name	UOM	Bomorko	Quantity	Supplier Pote	Amount
<b>5r NO</b> 1	Item Code	Item Name Supply and Installation of 40W Led Light Fixture	Nos	Remarks	6.00	<b>Supplier Rate</b> 2,100.00	12,600
		Remarks 40W LED Bulb					
2		Item Name Supply and Laying of 4C x 4 Sq mm Cu Armoured Cable Remarks Make- Polycab	Mtr		30.00	525.00	15,750
3		Item Name Supply and Installation of 4 Way TPN DB Incomer - 32A FP RCBO 30MA- 1 Nos Outgoing -10 or 16A SP MCB-12 NOS Remarks Make- L T, Schneider, ABB, CG	Nos		1.00	15,600.00	15,600
4		Item Name A-32 AMPS 5 PIN INDUSTRIAL PLUG TO BE INC Remarks Mae- Legrand	Nos		1.00	9,500.00	9,500.
5		Item Name Supply and Installation of Energy Meter -230 AC or 16 AMPS meter - Make L and T, Schneider, Siemens, HPL, ABB and CG Remarks L T by Schneider make MSEB approved 10-60 Amp meter 3 phase 4 wire, metal wooden box to be included	Nos		1.00	35,625.00	35,625.
6		Item Name Supply and Laying of 3C x 2.5 Sq mm Cu Flexible lead wire Remarks Make- Polycab	Mtr		20.00	315.00	6,300.
		÷	• • •	Total :	59.00		95,375.0
<b>Sr No</b>	Item Code	Item Name Barricade work -	UOM	Remarks	Quantity 135.00	Supplier Rate 2,450.00	Amount 330,750
		Item Name	UOM Sqm	Remarks			<b>Amount</b> 330,750
		detailed design and specifications, Rate include after completion of project demolition need to done and including carting away from airport, complete as per instruction from engineer in-charge.					
				Total :	135.00		330,750.
ltemC ItemN							
Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1		Wall Construction -TOTAL AREA Providing and constructing 150mm thick wall in aerated concrete blocks (siporex). All levels and heights in proper plumbline with 12mm thk bedding of cement sand mortar in ratio 1 4 and laying in 1 3 6 concrete ratio, with 100mm thk R.C.C lintel at every 1200 mm height with proper curing, complete as per design. Wall height - 3000 mm (As per site conditions)	Sqm		133.90	1,998.00	267,532
		Providing and constructing 150mm thick wall in aerated concrete blocks (siporex). All levels and heights in proper plumbline with 12mm thk bedding of cement sand mortar in ratio 1 4 and laying in 1 3 6 concrete ratio, with 100mm thk R.C.C lintel at every 1200 mm height with proper curing, complete as per design. Wall height -	Sqm Sqm		133.90 142.25	2,350.00	267,532 334,287

	То	tal : 978.17		1,237,448.51
11	Cement Sand PlasterSqmProviding and applying 12 mm thick gypsum plaster in perfect level and proper plumbline. Quoted price to include 6mm to 12mm thick grooves and recesses, drip moulds, cleaning the site as directed, all necessary hardware, etc. as requiredSqm	255.25	550.00	140,387.50
10	P.C.C Screed bed for TOTAL FLOORING - 25mm to 30mm thick       Sqm         Providing laying P.C.C Screed bed on floor in 1 3 6 proportion       cement, sand aggregates to level the floor thus avoiding excess         flooring bed and also to embed all raceways and pipelines in       complete level ready for final floor finish application. (Upto 2 thick)	181.72	648.00	117,754.56
9	Waterproofing for KITCHENSPA including membraneSqmProviding and laying cement based surface waterproofing and executing 12mm thick water proofing plaster in cement mortar 1 3(with waterproofing compound Chemical of approved make) till 915mm Dado. Waterproofing compound membrane of Dr. Fixit, Fosroc, Sunanda ChemicalsSqm	68.05	1,775.00	120,788.75
8	WATERPROOFING	0.00	0.00	0.00
7	BOH Area	0.00	0.00	0.00
6	Gypsum PlasterSqmProviding and applying 12 mm thick gypsum plaster in perfect leveland proper plumbline. Quoted price to include 6mm to 12mm thickgrooves and recesses, drip moulds, cleaning the site as directed,all necessary hardware, etc. as required	113.00	550.00	62,150.00
5	CIVIL	0.00	0.00	0.00
5	CIVIL	0.00	0.00	0.00
4	P F Floor green polished Kota 600x600mm on Kitchen floor, laid Sqm with 1 4 cement mortar, or adhesive with 3mm thk. MYK Laticrete make cement grout filling,.	44.00	2,367.00	104,148.00